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BEMBREOR—SA
BI%L f(x) =" + 2¢% —4x — 31K L, #ifty= f(x) EDRP(-1, f(-1))IZHT

MO FFRERE y=g(x) T2, BEA(x) %, h(x)=x(x+1)(x—1)+g(x) &EE

WhH, TOLE, WOMWIEZ L,

(1) BEHROFEXy=g(x)ZRD I,

2) y=f(x)y=9gx)EDEFRDISL, P LELD % Q LT 5, Hif
y=h(x) PR P,Q%xlE5H I LERE,

B) 2 o0i#Ry=f(x)& y=h(x) L TCHENDIHyOEEZ KD X,
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RERBOR— O~
Fifi FOAABC TAB=4, BC=5, AC=3 L7425 bD% &%, AABC DFME

OHLE O ET5, £/, WAC Z1: 51D THEE2P &35, ZDLx, koM

VIZE 2 &

(1) cosZABC & cos ZAOC DEA Z I ZFHReD X,

(2) |OP| & cos/POC Dfili % Z sk k.

(3) PEEOB-OP Ofliz sk &,

4 A BLAPZHEIERNAABC ONEMERDOLRATB ERRL8%2Q &7
%, 0Q% OB & OP % i\ T4,



2021 #IRAZE (XR) wiHEE [ME

RERBOR— O~
WOMNIEZ K

1) nZ28EETHEE, 1RREHEX3x +5y = n OFEEIREZ T TRD L,

Q) OLLETUTOEN DI, 0LLEDOES x, y ZHVTn=3x+5y & FHELW
b D DOEE A KD I,

B) 8L LEDTRTOELnIE, 0L LD x, y ZHVTn=3x+5y LEXEDHZ &
ot
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RO R— A
1) f(x)=x"4+20"—4x -3 LT fl(x)=38x"+4x—4 & 720, #ifty=f(x) E
DRP(—1, f(-1)IzBFrEROFEXE, f(-1)=2, f((-1)=-51b
y—2=—-5(x+1), y=—-5x—3
2) g(x)=-5x-3LY, y=f(x) & y=g(x) DIARL, f(x)=g(x) b,
x% 2% —4x—3=—bx—3, ¥ +2  +x=0, x(x+1)?=0
P(—1, 2), Q(0, —=3)&7220, 22T, h(x)=x(x+1)(x—1)+g(x)ITx L,
h(-1)=g(-1)=2, h(0)=g(0)=-3
LY, #Hify=h(x)ITEP,QEIED,
B) Hifty=f(x)&y=h(x)DXELZL, f(x)=h(x)D,
x4+ 2% —4x—3=x"—x+(=5x—3), 2x2+2x=0, 2x(x+1)=0
LD, x=-1, 0&720, LAERIRP, QLT THD,
ZIT, S1=x=01I2BVT, fx)—h(x) =20 +2x=2x(x+1) =0 L 72V,
f(x)=h(x) b, Hifty=f(x) & y=h(x) THENDEWHOmE S I,

s=["theor- e = [T -ox(einar =2 (- L)-017 =1

[f# &3]
EARN WS ORERMETY, ME#M<ETLH Y £HA,
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(1) AABC (28T, AB=4, BC=5, AC=3 LY 2 Q
/BAC=90° L7210, cos/ABC=BA_4 w47,
BC 5
72, AMEMHOFL 0134RLI BCOFRTHD,
cos ZAOC = cos2/ABC = 2cos*/ABC —1 B 0 C
2
-2 (4 1=

@ Dy, |o_'A|:|o—1’3|:|@|:ém>@, 0OA.0C=2.5.7_1

—»

&T, AP:PC=1:5LY, OP= 5OA+6 :1(5OA+OC)<‘:7ZCD

|50A + OC[* = 57 (—) +10- L+ (%) =20 —180

LT, |OP|= 1|5OA+OC| %J 80:#513%0
(BOA+10C) 5.7, 1 (5 _60_5
*7-, OC-OP OC(60A+6OC) 64+6(2) o4 273»5,

. 5
OC-OP 2 1
cos/POC = =22 = —_
[0C||OP| 5.5 J5

(3) (2)#*5, OB-OP=—-0C-OP :—g

BPE —|OP_OBF —5-_9.(_5)4(5)>_65 1, _ 65
(4) |BP['=|0OP-OB[ =5-2-(—g)+(g) =22 &7V, BP=""2Th2.
2T, HREDEMNS BP.-QP=AP-CP £ 420, AP:%, CP:g#E,

1.5
QP—APCP_22_ 5 _+65

BP  Je5 2J65 26

2
“hktv, BP:QP= C.g_13 1720, A QI BP #(13+1):1,
Thbbld: 1T HZELY,
oG_ —OB+140P 1 o= 145p
0Q= 14—1 o 130B+130P
[f# %]

AT MV ORFE~OICHBE T, ERROMEFI LN, WANWARTGTIERE
ZbhET,
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(1) AEHFEASx+5y=n(n (FFELE) - Oz LT, O%W7=7T 1 #Ho(x, y) &
LT, (x, y)=(02n, —n)%x &b,
3,2n+5,(7n):n ......... @
D@k, 3(x—2n)+5(y+n)=0, 3(x—2n)=—-5(y+n)
3L BITHWICHERDT, REELE LT, x—2n=>5k, y+n=-3k & HEH,
x=5bk+2n, y=-3k—n
2 B x, y(x=0, y=0)ZHNT, n=3x+5y LEXELZEEn (0=n=7)IZ>
W, yZ20&XIn=10 L2 K20 T, y=0, 1OLZxEE2DH L,
G y=0mLx
n=3xM"O0=n=701b6x=0,12&7%0, n=0, 3, 65K TIENTE5S,
() y=1mr &
n=3x+5MDO0=n=ThbHx=0&7R0, n=5%KRTILNTED,
O~@A) LY, n=3x+5y L RXELEHnIL, n=0, 3, 5, 6 ThHd,
L72Ro>T, n=3x+56y LRERVWEE R (0=n=7)I%, n=1, 2, 4, T&7%
v, oKL 4 TH D,
B) i x, y(x=0, y=0)ZHWT, n=3x+5y L £ T2 n (n=8)I1Z>\T,
G y=0mLx
n=3x"on=8nbx=3t7720, nix9LED 3 DFEEK(n=9, 12, 15, ---)
ERTZLNTED,
G) y=1mr &
n=3x+5=3(x+1)+21on=80bx=1&70, niL 8 i kD 3 THl-7
RONB 2D (n=8, 11, 14, - ) EZRKT LN TE D,
(i) y=2m & =
n=3x+10=3(x+3)+122>n=81bHx=0 &7V, nlL 10 LLED 3 THI-
TRV N 1 OEE(n=10, 13, 16, - ) ZRT LN TE S,
O)~Gi) &V, n=3x+5y X 8L EOTRCOBKEELTZ LN TS,

K
4 B IED 1 > T, 7238, 2000 4EE DK « BLRICHEEZ L TR CRED
HEENTWETOT I2REFET v F~—7 /B EHY) 22U T 7EZE N,
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